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Winter Addition

Solve the following word problems.

A ski resort rented out 350 snowboards on
Saturday. The next day, they rented out 280
snowboards on Saturday. How many snowboards
were rented in total over the weekend?

During a winter sale, a store sold 480 winter
jackets on Monday and 250 jackets on Tuesday.
How many winter jackets were sold in total?

A snowman was made with 250 snowballs. Children
added 100 more snowballs to make it bigger. How
many snowballs are in the snowman now?

A group of friends gathered to make 456
snowflakes for a winter decoration project. The
next day, they made 182 more snowflakes. How
many snowflakes did they make in total?

A ski resort has 357 visitors in the morning. In the
afternoon, 358 more visitors came. How many
visitors were at the ski resort in total?

A Christmas tree farm has 426 trees. If 218 more
trees are planted, how many trees will the farm
have?

A town has 450 houses decorated for Christmas. If
356 more houses are decorated, how many houses
; will be decorated in total?
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